



Contact Person: Sophia Benjamin

Company: Mercobay

Web: <https://mercobay.com/>

Phone:

UK +44 7828 492783

USA: +1 (307) 224-6776

Catalogue: Coffee cups

Company address:

UK: 7 Ingleby Garden, Chigwell, Essex, London.

USA: 7901 4th Street North, #5129 St.

Petersburg, FL 33702, USA.

MANUFACTURER STRENGTH





Single Wall Paper Cups



SINGLE WALL PAPER CUPS - WHITE

CODE	ITEM DESCRIPTION	PCS/BAG	BAG/CTN	PCS/CTN	CTN SIZE(mm)
44PACUWH04OZSWG001	Single Wall Paper Cup White 4oz	50	20	1000	315x255x315
44PACU0006OZPRG001	Single Wall Paper Cup White 6oz	50	20	1000	345x275x290
44PACUWH07OZSWG001	Single Wall Paper Cup White 7oz	50	20	1000	385x310x365
44PACUWH08OZ00G001	Single Wall Paper Cup White 8oz	50	20	1000	408x328x426
44PACUWH10OZSWG001	Single Wall Paper Cup White 10oz	50	20	1000	470x380x500
44PACUWH12OZSWG001	Single Wall Paper Cup White 12oz	50	20	1000	468x378x521
44PACUWH16OZSWG001	Single Wall Paper Cup White 16oz	50	20	1000	455x365x615
44PACUWH20OZSWG001	Single Wall Paper Cup White 20oz	25	20	500	455x365x431

44PACUWH75OZSWG001	Single Wall Paper Vending Cup White 7.5oz	50	20	1000	355x285x335
--------------------	---	----	----	------	-------------

COMPOSTABLE CONE CUP - WHITE

44ECCUPL04OZCNG001	100% Biodegradable Paper Cone Cup 4oz	200	25	5000	350x347x440
44ECCUPL04OZCNG002	100% Biodegradable Paper Cone Cup 4.5oz	200	25	5000	355x360x450



SINGLE WALL PAPER CUPS - PRINTED

CODE	ITEM DESCRIPTION	PCS/BAG	BAG/CTN	PCS/CTN	CTN SIZE(mm)
44PACUPD08OZSWG004	Single Wall Paper Cup 8oz Printed	50	20	1000	408x328x426
44PACUPD12OZSWG002	Single Wall Paper Cup 12oz Printed	50	20	1000	468x378x521
44PACUPD08OZSWG002	Single Wall Paper Cup 8oz Aroma Design	50	20	1000	408x328x426
44PACUPD12OZSWG001	Single Wall Paper Cup 12oz Aroma Design	50	20	1000	468x378x521
44PACUPD16OZSWG001	Single Wall Paper Cup 16oz Aroma Design	50	20	1000	455x365x615
44PACUPR20OZSWG001	Single Wall Paper Cup 20oz Aroma Design	25	20	500	455x365x431

Single Wall Juice Cups



SINGLE WALL PAPER JUICE CUPS - PRINTED & WHITE

CODE	ITEM DESCRIPTION	PCS/BAG	BAG/CTN	PCS/CTN	CTN SIZE(mm)
44PACUJU12OZ00G002	Printed Paper Juice Cup 12oz	50	20	1000	415x340x440
44PACUJU16OZ00G002	Printed Paper Juice Cup 16oz	50	20	1000	455x365x595
44PACUJU12OZPLG001	White Paper Juice Cup 12oz	50	20	1000	415x340x440
44PACUJU16OZSWG001	White Paper Juice Cup 16oz	50	20	1000	455x365x595
44PACUJU22OZ00G002	White Paper Juice Cup 22oz	50	20	1000	460x370x560

Double Wall Paper Cups



DOUBLE WALL PAPER CUPS - BLACK, WHITE & KRAFT

CODE	ITEM DESCRIPTION	PCS/BAG	BAG/CTN	PCS/CTN	CTN SIZE(mm)
44PACUWH08OZDWG001	Double Wall Paper Cup 8oz - White	25	20	500	408x330x561
44PACUWH12OZDWG001	Double Wall Paper Cup 12oz - White	25	20	500	455x365x541
44PACUWH16OZDWG001	Double Wall Paper Cup 16oz - White	25	20	500	455x365x661
44PACUBK08OZDWG001	Double Wall Paper Cup 8oz - Black	25	20	500	408x330x561
44PACUBK12OZDWG001	Double Wall Paper Cup 12oz - Black	25	20	500	455x365x541
44PACUBK16OZDWG001	Double Wall Paper Cup 16oz - Black	25	20	500	455x365x661
44PACUKT08OZDWG001	Double Wall Paper Cup 8oz - Kraft	25	20	500	408x330x561
44PACUKT12OZDWG001	Double Wall Paper Cup 12oz - Kraft	25	20	500	455x365x541
44PACUKT16OZDWG001	Double Wall Paper Cup 16oz - Kraft	25	20	500	455x365x661

Ripple Wall Paper Cups



RIPPLE WALL PAPER CUPS - BLACK, WHITE & KRAFT

CODE	ITEM DESCRIPTION	PCS/BAG	BAG/CTN	PCS/CTN	CTN SIZE(mm)
44PACUWH08OZRP001	Ripple Wall Paper Cup 8oz - White	25	20	500	405x328x486
44PACUWH12OZRP001	Ripple Wall Paper Cup 12oz - White	25	20	500	460x370x490
44PACUWH16OZRP001	Ripple Wall Paper Cup 16oz - White	25	20	500	690x360x450
44PACUBK08OZRP002	Ripple Wall Paper Cup 8oz - Black	25	20	500	405x328x486
44PACUBK12OZRP001	Ripple Wall Paper Cup 12oz - Black	25	20	500	460x370x490
44PACUBK16OZRP001	Ripple Wall Paper Cup 16oz - Black	25	20	500	690x360x450
44PACUKT08OZRP001	Ripple Wall Paper Cup 8oz - Kraft	25	20	500	405x328x486
44PACUKT12OZRP001	Ripple Wall Paper Cup 12oz - Kraft	25	20	500	460x370x490
44PACUKT16OZRP001	Ripple Wall Paper Cup 16oz - Kraft	25	20	500	690x360x450



Ripple Wall Bio-Paper Cups



RIPPLE WALL BIO - PAPER CUPS - BLACK, WHITE & KRAFT

CODE	ITEM DESCRIPTION	PCS/BAG	BAG/CTN	PCS/CTN	CTN SIZE(mm)
44ECCUKT04OZTWG001	Ripple Wall Bio-Paper Cup 4oz - Kraft	25	20	500	450x270x325
44ECCUKT08OZTWG001	Ripple Wall Bio-Paper Cup 8oz - Kraft	25	20	500	490x320x395
44ECCUKT12OZTWG001	Ripple Wall Bio-Paper Cup 12oz - Kraft	25	20	500	505x350x440
44ECCUKT16OZTWG001	Ripple Wall Bio-Paper Cup 16oz - Kraft	25	20	500	610x365x460
44ECCUBK04OZTWG001	Ripple Wall Bio-Paper Cup 4oz - Black	25	20	500	450x270x325
44ECCUBK08OZTWG001	Ripple Wall Bio-Paper Cup 8oz - Black	25	20	500	490x320x395
44ECCUBK12OZTWG001	Ripple Wall Bio-Paper Cup 12oz - Black	25	20	500	505x350x440
44ECCUBK16OZTWG001	Ripple Wall Bio-Paper Cup 16oz - Black	25	20	500	610x365x460

Compostable Embossed Double Wall Cups



DOUBLE WALL BIO-PAPER CUPS

CODE	ITEM DESCRIPTION	PCS/BAG	BAG/CTN	PCS/CTN	CTN SIZE(mm)
44PACUAQ08OZDWG001	Double Wall Bio-Paper Cup 8oz - White	25	20	500	320x260x360
44PACUAQ10OZDWG001	Double Wall Bio-Paper Cup 10oz - White	25	20	500	455x365x460
44PACUAQ12OZDWG001	Double Wall Bio-Paper Cup 12oz - White	25	20	500	455x365x541
44PACUAQ16OZDWG001	Double Wall Bio-Paper Cup 16oz - White	25	20	500	445x365x661

EMBOSSED DOUBLE WALL BIO-PAPER CUPS

CODE	ITEM DESCRIPTION	PCS/BAG	BAG/CTN	PCS/CTN	CTN SIZE(mm)
44ECCUKT08OZEBG001	Compostable Embossed Double Wall Cup 8oz	25	20	500	405x328x481
44ECCUKT12OZEBG001	Compostable Embossed Double Wall Cup 12oz	25	20	500	470x385x475

Paper Cup Accessories



PAPER CUPS - ACCESSORIES

CODE	ITEM DESCRIPTION	PCS/BAG	BAG/CTN	PCS/CTN	CTN SIZE(mm)
44PACULI0607FTG001	Lid for Paper Cup 6oz - PP	100	10	1000	355x230x285
44PLLIBK0810RCG001	Reclosable Lid For 8oz - PP - Black	50	20	1000	430x310x350
44PLLIBK1216RCG002	Reclosable Lid For 12oz - PP - Black	50	20	1000	470x315x380
44PLLIWH0810RCG001	Reclosable Lid For 8oz - PP - White	50	20	1000	430x310x350
44PLLIWH1216RCG003	Reclosable Lid For 12oz - PP - White	50	20	1000	470x315x380
44PLLIPS04OZBKG001	Lid for Paper Cup 4oz - 65mm - PS - Black	100	10	1000	344x277x220
44PLLIPS08OZBKG001	Lid for Paper Cup 8oz - 80mm - PS - Black	100	10	1000	442x182x487
44PLLIPS1216BKG001	Lid for Paper Cup 12-16oz - 90mm - PS - Black	100	10	1000	492x207x490
44PLLIPS04OZWHG001	Lid for Paper Cup 4oz - 65mm - PS - White	100	10	1000	344x277x220
44PLLIPS08OZWHG001	Lid for Paper Cup 8oz - 80mm - PS - White	100	10	1000	442x182x487
44PLLIPS1216WHG001	Lid for Paper Cup 12-16oz - 90mm - PS - White	100	10	1000	492x207x490
44ECCUKT8020LIG001	Lid for Paper Cup Bagasse (80mm/3")	100	10	1000	580x180x430
44ECCUKT9020LIG001	Lid for Paper Cup Bagasse (90mm/4")	100	10	1000	560x480x210
44PALI12OZ00CCG001	Flat Lid For Cold Paper Cups 12oz - PET - Clear	100	10	1000	535x435x180
44PALI162200CCG001	Flat Lid For Cold Paper Cups 16-22oz - PET - Clear	100	10	1000	515x485x200
44PACU0008OZSVG001	Hot Cup Sleeve - Small (112x12x53mm)	100	10	1000	355x260x265
44PACU0016OZSVG001	Hot Cup Sleeve - Large (125x110x60mm)	100	10	1000	350x280x265
44PACUHL020000G004	2 Cup Carrier Moulded Pulp Fibre	90	4	360	465x200x370
44PACUHL040000G004	4 Cup Carrier Moulded Pulp Fibre	90	2	180	405x265x300

Paper Straws



PAPER STRAWS

CODE	ITEM DESCRIPTION	PCS/BAG	BAG/CTN	PCS/CTN	CTN SIZE(mm)
44PASRBK060000G004	Paper Jumbo Straw 6mm (200mm/8") - Black	250	40	10000	485x395x410
44PASRRDWH0600G002	Paper Jumbo Straw 6mm (200mm/8") - Red Stripe	250	40	10000	485x395x410
44PASRBK080000G002	Paper Smoothie Straw 8mm (200mm/8") - Black	250	40	10000	485x395x410
44PASRRDWH0800G001	Paper Smoothie Straw 8mm (200mm/8") - Red Stripe	250	40	10000	485x395x410
44PAST1209WHPLG001	Paper Bubble Straw 12mm (230mm/9") - White	250	12	3000	602x382x472
44PAST1209RDSTG001	Paper Bubble Straw 12mm (230mm/9") - Red Stripe	250	12	3000	602x382x472
44PASRBK060000G005	Paper Cocktail Straw 6mm (140mm/5.5") - Black	250	40	10000	485x395x300
44PASRBK060000G001	Paper Straw 6mm Wrapped (197mm/8") - Black	250	20	5000	470x340x325
44PASRWH08MM00G001	Paper Straw 8mm Wrapped (197mm/8") - White	250	20	5000	475x465x480

Ice Cream Paper Cups with Lid



ICE CREAM PAPER CUPS - PRINTED & WHITE

CODE	ITEM DESCRIPTION	PCS/BAG	BAG/CTN	PCS/CTN	CTN SIZE(mm)
44PACULM04OZICG001	Ice Cream Cup Paper (118ml/4oz) Printed - 74mm	20	50	1000	408x320x440
44PACULM06OZICG001	Ice Cream Cup Paper (177ml/6oz) Printed - 95mm	20	50	1000	490x390x470
44PACULM08OZICG001	Ice Cream Cup Paper (237ml/8oz) Printed - 95mm	20	50	1000	472x378x372
44PACULM12OZICG001	Ice Cream Cup Paper (355ml/12oz) Printed - 100mm	20	50	1000	510x410x437
44PACULM16OZICG001	Ice Cream Cup Paper (473ml/16oz) Printed - 110mm	20	50	1000	615x490x550
44PACUPL04OZICG001	Ice Cream Cup Paper (118ml/4oz) White - 74mm	20	50	1000	408x320x440
44PACUPL08OZICG001	Ice Cream Cup Paper (237ml/8oz) White - 95mm	20	50	1000	472x378x372
44PACUPL12OZICG001	Ice Cream Cup Paper (355ml/12oz) White - 100mm	20	50	1000	510x410x437
44PACUPL16OZICG001	Ice Cream Cup Paper (473ml/16oz) White - 110mm	20	50	1000	615x490x550

LIDS FOR ICE CREAM PAPER CUPS

CODE	ITEM DESCRIPTION	PCS/BAG	BAG/CTN	PCS/CTN	CTN SIZE(mm)
44PALILM04OZDLG001	Dome Lid for Ice Cream Cup rPET (for 4oz cup) Clear	20	50	1000	390x320x255
44PALILM0608DLG001	Dome Lid for Ice Cream Cup rPET (for 6-8oz cup) Clear	20	50	1000	390x320x255
44PALILM12OZDLG001	Dome Lid for Ice Cream Cup rPET (for 12oz cup) Clear	20	50	1000	520x420x280
44PALILM16OZDLG001	Dome Lid for Ice Cream Cup rPET (for 16oz cup) Clear	20	50	1000	560x460x280



Rectangular Kraft Paper Containers



RECTANGULAR KRAFT PAPER CONTAINERS

CODE	ITEM DESCRIPTION	PCS/BAG	BAG/CTN	PCS/CTN	CTN SIZE(mm)
44PABOKT50MLREG001	Rectangular Container Paper 500ml - Kraft	50	6	300	380x370x445
44PABOKT65MLREG001	Rectangular Container Paper 650ml - Kraft	50	6	300	380x370x460
44PABOKT75MLREG001	Rectangular Container Paper 750ml - Kraft	50	6	300	380x370x455
44PABOKT10MLREG001	Rectangular Container Paper 1000ml - Kraft	50	6	300	390x380x490

LIDS FOR RECTANGULAR KRAFT PAPER CONTAINERS

CODE	ITEM DESCRIPTION	PCS/BAG	BAG/CTN	PCS/CTN	CTN SIZE(mm)
44PAKTLI5010REG001	Paper Lid for Rectangular (500/650/750/1000ml) - Kraft	25	12	300	520x505x350
44PLPPLI5010REG001	PP Lid for Rectangular Container (500/650/750/1000ml)	50	6	300	520x380x285

Round Kraft Paper Salad Bowls



ROUND KRAFT PAPER SALAD BOWLS

CODE	ITEM DESCRIPTION	PCS/BAG	BAG/CTN	PCS/CTN	CTN SIZE(mm)
44PABOKT50MLROG001	Salad Bowl Round Paper 500ml - Kraft	50	6	300	460x310x425
44PABOKT75MLROG001	Salad Bowl Round Paper 750ml - Kraft	50	6	300	460x310x483
44PABOKT10MLROG001	Salad Bowl Round Paper 1000ml - Kraft	50	6	300	470x315x550
44PABOKT1300ROG001	Salad Bowl Round Paper 1300ml - Kraft	50	6	300	570x380x620

LIDS FOR ROUND KRAFT PAPER SALAD BOWLS

CODE	ITEM DESCRIPTION	PCS/BAG	BAG/CTN	PCS/CTN	CTN SIZE(mm)
44PLLIPT7510ROG001	Anti-fog rPET Lid Round 500-1000ml - Clear	50	6	300	570x380x200
44PLLIPT1300ROG001	Anti-fog rPET Lid Round 1300ml - Clear	50	6	300	550x360x280

Kraft Square Box with rPET Lid



KRAFT SQUARE BOX WITH rPET LID

CODE	ITEM DESCRIPTION	PCS/BAG	BAG/CTN	PCS/CTN	CTN SIZE(mm)
44PABXKTOC0300G001	10oz (300ml) Kraft Square Box with rPET Anti-Fog Lid	50	4	200	575x330x330
44PABXKTOC0650G001	22oz (650ml) Kraft Square Box with rPET Anti-Fog Lid	50	4	200	555x330x330
44PABXKTOC0750G001	25oz (750ml) Kraft Square Box with rPET Anti-Fog Lid	50	4	200	555x330x330
44PABXKTOC1000G001	35oz (1000ml) Kraft Square Box with rPET Anti-Fog Lid	50	4	200	605x390x390
44PABXKTOC1200G001	42oz (1200ml) Kraft Square Box with rPET Anti-Fog Lid	50	4	200	635x390x390

Paper Soup Cups with Lid



PAPER SOUP CUPS - KRAFT

CODE	ITEM DESCRIPTION	PCS/BAG	BAG/CTN	PCS/CTN	CTN SIZE(mm)
44PABOKT0227LIG001	Paper Soup Cup+Lid (227ml/8oz) Kraft	25	10	250	530x215x600
44PABOKT0340LIG001	Paper Soup Cup+Lid (340ml/12oz) Kraft	25	10	250	530x215x610
44PABOKT0453LIG001	Paper Soup Cup+Lid (453ml/16oz) Kraft	25	10	250	530x215x640

PAPER SOUP CUPS - WHITE

CODE	ITEM DESCRIPTION	PCS/BAG	BAG/CTN	PCS/CTN	CTN SIZE(mm)
44PABOWH0227LIG001	Paper Soup Cup+Lid (227ml/8oz) White	25	10	250	530x215x600
44PABOWH0340LIG001	Paper Soup Cup+Lid (340ml/12oz) White	25	10	250	530x215x610
44PABOWH0453LIG001	Paper Soup Cup+Lid (453ml/16oz) White	25	10	250	530x215x640

Kraft Paper Portion Pots



PAPER PORTION POTS

CODE	ITEM DESCRIPTION	PCS/BAG	BAG/CTN	PCS/CTN	CTN SIZE(mm)
44PAPRKTCU02OZG001	Paper Portion Pot (59ml/2oz) - Kraft	50	20	1000	260x320x390
44PAPRKTCU04OZG001	Paper Portion Pot (118ml/4oz) - Kraft	50	20	1000	260x320x320
44PAPRKTCU06OZG001	Paper Portion Pot (170ml/6oz) - Kraft	50	20	1000	470x380x380
44PAPRKTCU07OZG001	Paper Portion Pot (200ml/7oz) - Kraft	50	20	1000	470x380x440

LIDS FOR PAPER PORTION POTS

CODE	ITEM DESCRIPTION	PCS/BAG	BAG/CTN	PCS/CTN	CTN SIZE(mm)
44PAKTLI0204OZG001	Paper Lid for 2/4oz Paper Portion Pot - Kraft	50	20	1000	350x330x270
44PAKTLI0607OZG001	Paper Lid for 6/7oz Paper Portion Pot - Kraft	50	20	1000	600x210x500
44PLLIPR0204OZG001	PP Lid for 2/4oz Paper Portion Pot - Clear	50	20	1000	350x330x270
44PLLIPR0607OZG001	PP Lid for 6/7oz Paper Portion Pot - Clear	50	20	1000	470x290x390

Paper Souffle Pots White & Kraft



KRAFT PAPER SOUFFLE POTS

CODE	ITEM DESCRIPTION	PCS/BAG	BAG/CTN	PCS/CTN	CTN SIZE(mm)
44PACUKT0100OZG001	Paper Souffle Pot 1oz - Kraft	250	20	5000	340x360x235
44PACUKT0200OZG001	Paper Souffle Pot 2oz - Kraft	250	20	5000	480x350x305
44PACUKT0325OZG001	Paper Souffle Pot 3.25oz - Kraft	250	20	5000	560x390x350
44PACUKT0400OZG001	Paper Souffle Pot 4oz - Kraft	200	15	3000	560x395x355
44PACUKT0550OZG001	Paper Souffle Pot 5.5oz - Kraft	200	15	3000	500x320x435

WHITE PAPER SOUFFLE POTS

CODE	ITEM DESCRIPTION	PCS/BAG	BAG/CTN	PCS/CTN	CTN SIZE(mm)
44PACU0001OZPRG001	Paper Souffle Pot 1oz - White	250	20	5000	340x360x235
44PACU0002OZPRG001	Paper Souffle Pot 2oz - White	250	20	5000	480x350x305
44PACU0325OZPRG001	Paper Souffle Pot 3.25oz - White	250	20	3000	560x390x350
44PACU0004OZPRG001	Paper Souffle Pot 4oz - White	200	15	3000	560x395x355
44PACU0055OZPRG001	Paper Souffle Pot 5.5oz - White	200	15	3000	500x320x435

Kraft Paper Takeaway Boxes



KRAFT PAPER TAKEAWAY BOXES

CODE	ITEM DESCRIPTION	PCS/BAG	BAG/CTN	PCS/CTN	CTN SIZE(mm)
44PABXKT0100TAG001	Takeaway Box No1 Paper (750ml/26oz) - Kraft	50	9	450	570x400x400
44PABXKT0200TAG001	Takeaway Box No2 Paper (1450ml/51oz) - Kraft	50	4	200	450x355x470
44PABXKT0300TAG001	Takeaway Box No3 Paper (2000ml/70oz) - Kraft	50	4	200	535x365x464
44PABXKT0400TAG001	Takeaway Box No4 Paper (3000ml/98oz) - Kraft	40	4	160	485x484x345
44PABXKT0600TAG002	Takeaway Box No6a Paper (739ml/26oz) - Kraft	75	9	675	570x570x310
44PABXKT0800TAG001	Takeaway Box No8 Paper (1400ml/49oz) - Kraft	50	6	300	475x410x490

Kraft & White Paper Takeaway Boxes



KRAFT & WHITE PAPER TAKEAWAY BOXES

CODE	ITEM DESCRIPTION	PCS/BAG	BAG/CTN	PCS/CTN	CTN SIZE(mm)
44PABXCK22OZTAG001	Takeaway Box Paper (651ml/22oz) Kraft + White	300	1	300	650x350x345
44PABXCK32OZTAG001	Takeaway Box Paper (946ml/32oz) Kraft + White	120	1	120	450x350x275
44PABXCK36OZTAG001	Takeaway Box Paper (1065ml/36oz) Kraft + White	120	1	120	460x454x318
44PABXCK56OZTAG001	Takeaway Box Paper (1656ml/56oz) Kraft + White	100	1	100	460x425x325
44PABXCK72OZTAG001	Takeaway Box Paper (2129ml/72oz) Kraft + White	100	1	100	490x465x355

Kraft Paper Lunch Boxes without Window



KRAFT PAPER LUNCH BOXES WITHOUT WINDOW

CODE	ITEM DESCRIPTION	PCS/BAG	BAG/CTN	PCS/CTN	CTN SIZE(mm)
44PABXKT1200LBG001	Lunch Box PE Lined Paper (120x88x37mm) 10oz - Kraft	150	1	150	370x370x150
44PABXKT1500LBG001	Lunch Box PE Lined Paper (150x100x45mm) 16oz - Kraft	100	1	100	400x290x200
44PABXKT1800LBG001	Lunch Box PE Lined Paper (180x120x50mm) 30oz - Kraft	150	1	150	580x320x220
44PABXKT1950LBG001	Lunch Box PE Lined Paper (195x140x65mm) 50oz - Kraft	120	1	120	580x390x250

Kraft Paper Lunch Boxes with Window



KRAFT PAPER LUNCH BOXES WITH WINDOW

CODE	ITEM DESCRIPTION	PCS/BAG	BAG/CTN	PCS/CTN	CTN SIZE(mm)
44PABXKT1200LBG002	Lunch Box with Window PE Lined Paper 10oz - Kraft	300	1	300	400x370x310
44PABXKT1500LBG002	Lunch Box with Window PE Lined Paper 16oz - Kraft	150	1	150	600x330x190
44PABXKT1800LBG002	Lunch Box with Window PE Lined Paper 30oz - Kraft	100	1	100	480x380x220
44PABXKT1950LBG002	Lunch Box with Window PE Lined Paper 50oz - Kraft	120	1	120	620x430x250

Kraft Paper Boat Trays / Square Boxes



KRAFT PAPER BOAT TRAYS

CODE	ITEM DESCRIPTION	PCS/BAG	BAG/CTN	PCS/CTN	CTN SIZE(mm)
44PATRKTSM00BOG001	Kraft Paper Boat Tray - Small	700	1	700	330x365x280
44PATRKTME00BOG001	Kraft Paper Boat Tray - Medium	500	1	500	450x430x165
44PATRKTLR00BOG001	Kraft Paper Boat Tray - Large	600	1	600	510x320x300

KRAFT PAPER SQUARE BOXES

CODE	ITEM DESCRIPTION	PCS/BAG	BAG/CTN	PCS/CTN	CTN SIZE(mm)
44PABXKT08OZSQG001	Lunch Box Square PE Lined Paper 8oz - Kraft	280	1	280	460x310x235
44PABXKT16OZSQG001	Lunch Box Square PE Lined Paper 16oz - Kraft	120	1	120	570x250x155
44PABXKT26OZSQG001	Lunch Box Square PE Lined Paper 26oz - Kraft	120	1	120	580x300x190
44PABXKT32OZSQG001	Lunch Box Square PE Lined Paper 32oz - Kraft	150	1	150	525x410x190

Kraft Paper Burger Boxes / Sandwich Boxes



KRAFT PAPER SANDWICH WEDGES WITH WINDOW

CODE	ITEM DESCRIPTION	PCS/BAG	BAG/CTN	PCS/CTN	CTN SIZE(mm)
44PABXSW0000SNG001	Sandwich Wedge Single with Window CKB - Kraft	250	1	250	330x275x180
44PABXSW0000DBG001	Sandwich Wedge Double with Window CKB - Kraft	250	1	250	350x270x195
44PABXSW0000LAG001	Sandwich Wedge Large with Window - Kraft	500	1	500	560x340x220

PAPER BURGER BOX - KRAFT & WHITE

CODE	ITEM DESCRIPTION	PCS/BAG	BAG/CTN	PCS/CTN	CTN SIZE(mm)
44PABXKT0000BUG001	Burger Box Standard - Kraft	100	5	500	555x400x275
44PABXWH0000BUG001	Burger Box Standard - White	100	5	500	590x510x310

PAPER FRY SCOOP - WHITE

CODE	ITEM DESCRIPTION	PCS/BAG	BAG/CTN	PCS/CTN	CTN SIZE(mm)
44ECCUPL12OZSXXG001	Paper Fry Scoop (355ml/12oz) - White	50	20	1000	455x360x600

Paper Plates Round



HEAVY DUTY PAPER PLATE

CODE	ITEM DESCRIPTION	PCS/BAG	BAG/CTN	PCS/CTN	CTN SIZE(mm)
44PAPL09IN24HDG001	Paper Plate Round HD (229mm/9") - White	50	20	1000	260x320x390

PAPER PLATE

CODE	ITEM DESCRIPTION	PCS/BAG	BAG/CTN	PCS/CTN	CTN SIZE(mm)
44PAPLWH06INROG003	Paper Plate Round (152mm/6") - White	100	10	1000	310x280x165
44PAPLWH07INROG001	Paper Plate Round (178mm/7") - White	100	10	1000	365x285x190
44PAPLWH09INROG001	Paper Plate Round (229mm/9") - White	100	10	1000	440x245x240
44PAPLWH06INROG001	Paper Plate Round (152mm/6") - White	100	12	1200	315x160x270
44PAPL07IN0000G001	Paper Plate Round (178mm/7") - White	100	12	1200	360x183x260
44PAPL09IN0000G001	Paper Plate Round (229mm/9") - White	100	12	1200	450x230x280

Cake Boxes Plain White



PLAIN CAKE BOX - WHITE

CODE	ITEM DESCRIPTION	PCS/BAG	BAG/CTN	PCS/CTN	CTN SIZE(mm)
44PACC15080000G001	Cake Box Paper (150x150x80mm/6x6x3") - White	100	1	100	490x330x65
44PACC20100000G001	Cake Box Paper (200x200x100mm/8x8x4") - White	100	1	100	630x420x65
44PACC25120000G001	Cake Box Paper (250x250x120mm/10x10x5") - White	100	1	100	770x500x65
44PACC30120000G001	Cake Box Paper (300x300x120mm/12x12x5") - White	100	1	100	880x560x65

Cupcake Boxes with Trays



PAPER CUP CAKE BOXES WITH TRAY

CODE	ITEM DESCRIPTION	PCS/BAG	BAG/CTN	PCS/CTN	CTN SIZE(mm)
44PACC01000000G001	Cup Cake Box with Tray 1 Slot - White	100	1	100	340x490x70
44PACC04000000G001	Cup cake Box with Tray 4-5 Slot - White	100	1	100	275x460x215
44PACC06000000G001	Cup cake Box with Tray 6-8 Slot - White	100	1	100	275x460x215
44PACC00120000G001	Cup cake Box with Tray 12 Slot - White	100	1	100	360x700x350
44PACC00240000G001	Cup cake Box with Tray 24-30 Slot - White	100	1	100	510x840x210

Chicken Buckets



PAPER CHICKEN BUCKET WITH LID

CODE	ITEM DESCRIPTION	PCS/BAG	BAG/CTN	PCS/CTN	CTN SIZE(mm)
44PABTPD85OZCBG001	Chicken Bucket & Lid Paper (2514ml/85oz) - Printed	100	1	100	400x400x380
44PABTPD13OZCBG001	Chicken Bucket & Lid Paper (3845ml/130oz) - Printed	100	1	100	445x445x440
44PABTPD17OZCBG001	Chicken Bucket & Lid Paper (5028ml/170oz) - Printed	100	1	100	475x475x470

Fish 'n' Chips Bags & Boxes



PAPER FISH 'N' CHIPS BAGS & BOXES

CODE	ITEM DESCRIPTION	PCS/BAG	BAG/CTN	PCS/CTN	CTN SIZE(mm)
44PABAWK2430FHG004	Fish and Chips Bags with Handle Medium - Printed	250	1	250	500x380x225
44PABAWK3631FHG001	Fish and Chips Bags with Handle Large - Printed	250	1	250	500x390x285
44PABXFC00SM00G001	Fish and Chips Box - Small (142x160x50 mm)	100	1	100	490x260x155
44PABXFC00ME00G001	Fish and Chips Box - Medium (155x260x52 mm)	100	1	100	522x375x155
44PABXFC00LA00G001	Fish and Chips Box - Large (142x310x50 mm)	100	1	100	530x420x155



Bagasse Plates



BAGASSE PLATES

CODE	ITEM DESCRIPTION	PCS/BAG	BAG/CTN	PCS/CTN	CTN SIZE(mm)
44ECPL0007INROG001	Bagasse Plate Biodegradable (178mm/7")	50	20	1000	455x300x255
44ECPL0009INROG001	Bagasse Plate Biodegradable (229mm/9")	25	20	500	455x300x255
44ECPL0010INROG001	Bagasse Plate Biodegradable (254mm/10")	25	20	500	535x310x290
44ECPL0310INROG001	Bagasse Plate Biodegradable 3 Comp (254mm/10")	25	20	500	535x310x290

Bagasse Clamshells



BAGASSE CLAMSHELLS

CODE	ITEM DESCRIPTION	PCS/BAG	BAG/CTN	PCS/CTN	CTN SIZE(mm)
44ECXB06INBIG001	Bagasse Burger Box (152mm/6")	50	10	500	460x310x315
44ECBO020OZBIG001	Bagasse Clamshell 5x7" (127x178mm)	50	10	500	480x280x390
44ECBX000906BIG001	Bagasse Clamshell 9x6" (229x152mm)	50	5	250	440x320x245
44ECBO020906BIG001	Bagasse Clamshell 2-Compartment 9x6" (229x152mm)	50	5	250	540x340x265
44ECBO0008INBIG001	Bagasse Clamshell 8x8" (203x203mm)	50	4	200	455x360x220
44ECBO0308INBIG001	Bagasse Clamshell 3 Compartment 8x8" (203x203mm)	50	4	200	455x360x220
44ECBO0009INBIG001	Bagasse Clamshell 9x9" (229x229mm)	50	4	200	480x360x245
44ECBO0309INBIG001	Bagasse Clamshell 3 Compartment 9x9" (229x229mm)	50	4	200	480x360x245

Bagasse Bowls & Portion Pots



BAGASSE PORTION POTS

CODE	ITEM DESCRIPTION	PCS/BAG	BAG/CTN	PCS/CTN	CTN SIZE(mm)
44ECCUBG020000G001	Bagasse Pot Biodegradable (59ml/2oz)	100	20	2000	400x295x235
44ECCUBG040000G001	Bagasse Pot Biodegradable (118ml/4oz)	100	20	2000	435x300x365

BAGASSE BOWLS

CODE	ITEM DESCRIPTION	PCS/BAG	BAG/CTN	PCS/CTN	CTN SIZE(mm)
44ECBOBG080ZPLG001	Bagasse Bowl Biodegradable (237ml/8oz)	50	20	1000	550x245x250
44ECBOBG120ZPLG001	Bagasse Bowl Biodegradable (355ml/12oz)	50	20	1000	480x330x335
44ECBOBG160ZPLG001	Bagasse Bowl Biodegradable (473ml/16oz)	50	10	500	350x160x730

BAGASSE TRAY

CODE	ITEM DESCRIPTION	PCS/BAG	BAG/CTN	PCS/CTN	CTN SIZE(mm)
44ECTR00120ZBIG001	Bagasse Tray Biodegradable Rectangle	50	20	1000	410x405x315

Bagasse Fish & Chips Boxes



BAGASSE FISH & CHIPS BOX

CODE	ITEM DESCRIPTION	PCS/BAG	BAG/CTN	PCS/CTN	CTN SIZE(mm)
44ECBXBG0705SMG001	Bagasse Fish & Chips Box - Small (HB9) - White	125	2	250	500x310x200
44ECBXBG0906MEG001	Bagasse Fish & Chips Box - Medium (HB10) - White	125	2	250	500x310x235
44ECBXBG1306LAG001	Bagasse Fish & Chips Box - Large - White	125	2	250	465x305x410





Wooden Cutlery



WOODEN CUTLERY

CODE	ITEM DESCRIPTION	PCS/BAGE	AG/CTN	PCS/CTN	CTN SIZE(mm)
44WBCTKE001700G001	Birchwood Knife (165mm/6.5")	100	10	1000	210x175x210
44WBCTFK001606G002	Birchwood Fork (160mm/6")	100	10	1000	210x170x250
44WBCTFK014706G001	Birchwood Salad Fork (147mm/6")	100	10	1000	210x160x220
44WBCTFK001506G002	Birchwood Fork Small (150mm/5.9")	100	10	1000	240x165x200
44WBCTFK008503G001	Birchwood Chip Fork (85mm/3")	1000	10	10000	460x170x280
44WBCTSP001606G001	Birchwood Dessert Spoon (160mm/6")	100	10	1000	210x170x250
44WBCTSP001104G001	Birchwood Teaspoon (110mm/4")	100	20	2000	230x170x200
44WBCTSP007003G001	Birchwood Spade (70mm/3")	100	20	2000	360x160x160
44WBCTST030000G001	Wooden Cutlery Set (Fork+Knife+Napkin) 3 in 1	500	1	500	410x255x465
44WBCT000000STG001	Wooden Cutlery Set (Spoon+Fork+Knife+Napkin) 4 in 1	500	1	500	520x210x430

Bamboo Teppo Skewers



BAMBOO STEAK MARKERS

CODE	ITEM DESCRIPTION	PCS/BAG	BAG/CTN	PCS/CTN	CTN SIZE(mm)
44WBCTSM009004G004	Bamboo Steak Marker - Rare (90mm/4")	100	10	1000	260x110x110
44WBCTSM009004G002	Bamboo Steak Marker - Medium Rare (90mm/4")	100	10	1000	260x110x110
44WBCTSM009004G001	Bamboo Steak Marker - Medium (90mm/4")	100	10	1000	260x110x110
44WBCTSM009004G003	Bamboo Steak Marker - Medium Well (90mm/4")	100	10	1000	260x110x110
44WBCTSM009004G005	Bamboo Steak Marker - Well Done (90mm/4")	100	10	1000	260x110x110

BAMBOO TEPPU GUN SKEWERS

CODE	ITEM DESCRIPTION	PCS/BAG	BAG/CTN	PCS/CTN	CTN SIZE(mm)
44WBCTSK009004G001	Bamboo Teppo Gun Shaped Skewer (90mm)	250	4	1000	260x110x110
44WBCTSK001205G001	Bamboo Teppo Gun Shaped Skewer (120mm)	250	4	1000	260x120x130
44WBCTSK001506G001	Bamboo Teppo Gun Shaped Skewer (150mm)	250	4	1000	260x170x160
44WBCTSK001807G001	Bamboo Teppo Gun Shaped Skewer (180mm)	250	4	1000	260x200x200
44WBCTSK002008G001	Bamboo Teppo Gun Shaped Skewer (200mm)	250	4	1000	260x220x220
44WBCTSK250010G001	Bamboo Teppo Gun Shaped Skewer (250mm)	250	4	1000	270x260x260

Bamboo Knot Picks Bamboo Skewers & Birchwood Stirrers



BAMBOO KNOT PICKS

CODE	ITEM DESCRIPTION	PCS/BAG	BAG/CTN	PCS/CTN	CTN SIZE(mm)
44WBCTKP000904G001	Bamboo Knot Pick (90mm)	250	4	1000	250x120x180
44WBCTKP001205G001	Bamboo Knot Pick (120mm)	250	4	1000	260x150x190
44WBCTKP001506G001	Bamboo Knot Pick (150mm)	250	4	1000	260x180x200

BAMBOO SKEWERS ROUND

CODE	ITEM DESCRIPTION	PCS/BAG	BAG/CTN	PCS/CTN	CTN SIZE(mm)
44WBCTSKRO1154G001	Bamboo Skewer (115x4mm) - Round	250	4	1000	260x130x70
44WBCTSK001804G001	Bamboo Skewer (180x4mm) - Round	250	4	1000	260x190x70
44WBCTSK002504G001	Bamboo Skewer (250x4mm) - Round	250	4	1000	260x210x90
44WBCTSK003004G001	Bamboo Skewer (300x4mm) - Round	250	4	1000	310x210x90

BIRCHWOOD STIRRERS

CODE	ITEM DESCRIPTION	PCS/BAG	BAG/CTN	PCS/CTN	CTN SIZE(mm)
44WBCTST014006G001	Birchwood Stirrer (140x6x1.3mm)	1000	10	10000	360x310x150
44WBCTST017806G001	Birchwood Stirrer (178x6x1.2mm)	1000	10	10000	345x195x380
44WBCTST018007G001	Birchwood Cocktail Disc Stirrer (180mm)	250	4	1000	200x130x150



Aluminium Containers



ALUMINIUM CONTAINERS

CODE	ITEM DESCRIPTION	PCS/BAG	BAG/CTN	PCS/CTN	CTN SIZE(mm)
44ALCOB3250100G001	Foil Container No1 (125x95x40mm)	1000	1	1000	530x295x213
44ALCOB3420200G002	Foil Container No2 (110x90x45mm)	1000	1	1000	500x295x305
44ALCOB3676A00G001	Foil Container No6A (195x100x55mm)	500	1	500	465x325x215
44ALCO06000000G001	Foil Container No6 Big (220x115x62mm)	125	4	500	450x330x245
44ALCOB32409X9G003	Foil Container No 9 Deep (229x229x51mm/9x9x2")	200	1	200	535x252x256
44ALCOB32409X9G004	Foil Container No 9 Shallow (229x229x38mm/9x9x1.5")	200	1	200	465x252x256
44ALCO508000ROG002	Foil Container No12 Round (190x46mm) 8"	400	1	400	465x345x465
44ALCO009INROG001	Foil Container No12 Round (229x50mm) 9"	300	1	300	550x460x245
44ALCUMU815400G001	Foil Muffin Cup Round (81x54mm/3x2")	1500	1	1500	430x260x395

Aluminium Gastro Containers



ALUMINIUM GASTRO CONTAINERS

CODE	ITEM DESCRIPTION	PCS/BAG	BAG/CTN	PCS/CTN	CTN SIZE(mm)
44ALTR73650000G001	Foil Container Half Gastro - Rolled Edge - Deep (320x265x65mm)	100	1	100	490x270x340
44ALCO73650000G001	Foil Container Half Gastro - IVC - Deep (320x265x65mm)	100	1	100	230x180x320
44ALCO270044RTG001	Foil Container Full Gastro - IVC - Shallow	100	1	100	460x270x340
44ALCO53885RT0G001	Foil Container Full Gastro - Rolled Edge - Deep (525x325x67mm)	50	1	50	540x335x345
44ALCO53885RTSG001	Foil Container Full Gastro - Rolled Edge - Shallow	50	1	50	535x300x340

Lids for Aluminium Containers



PAPER LIDS FOR ALUMINIUM CONTAINERS

CODE	ITEM DESCRIPTION	PCS/BAG	BAG/CTN	PCS/CTN	CTN SIZE(mm)
44ALFL83250100G001	Paper Lid for Foil Container No1 (125x95mm/5x4")	1000	1	1000	210x127x275
44ALFL83420200G001	Paper Lid for Foil Container No2 (105x85mm/4.1x3.3")	1000	1	1000	290x240x156
44ALFL83676A00G002	Paper Lid for Foil Container No6A (195x100mm/7.7x3.9")	500	1	500	220x200x158
44ALFL00090900C001	Paper Lid for Foil Container No9 (229x229mm/9x9")	200	1	200	245x245x126
44ALLI508000ROG001	Paper Lid for Foil Container No12 (203mm) 8"	400	1	400	370x185x115
44ALFL0009INROG001	Paper Lid for Foil Container No12 (229mm) 9"	300	1	300	230x230x155

IVORY BOARD HD LID FOR ALUMINIUM CONTAINERS

CODE	ITEM DESCRIPTION	PCS/BAG	BAG/CTN	PCS/CTN	CTN SIZE(mm)
44ALFL834202H00G001	Ivory Board HD Lid for Foil Container No2	1000	1	1000	405x240x150
44ALFL83676AHDG001	Ivory Board HD Lid for Foil Container No6A	500	1	500	405x200x113
44ALFL06000000G001	Ivory Board HD Lid for Foil Container No6 Big	500	1	500	230x221x100
44ALFL000909H00G001	Ivory Board HD Lid for Foil Container No9	200	1	200	242x242x165

LID FOR ALUMINIUM GASTRO CONTAINERS

CODE	ITEM DESCRIPTION	PCS/BAG	BAG/CTN	PCS/CTN	CTN SIZE(mm)
44ALFL73650000G001	Paper Lid for Foil Container Half Gastro IVC	100	1	100	335x275x80
44ALFL73650000G002	Foil Lid for Foil Container Half Gastro - Rolled Edge	100	1	100	337x280x242
44ALFL53885RT0G001	Foil Lid for Foil Container Full Gastro - Rolled Edge	50	1	50	550x352x140

Aluminium Trays & Platters



ALUMINIUM TRAYS

CODE	ITEM DESCRIPTION	PCS/BAG	BAG/CTN	PCS/CTN	CTN SIZE(mm)
44ALTRLA0000OVG001	Foil Roasting Tray Large Oval LRT (440x312x75mm)	50	1	50	454x328x277
44ALTRLA0000OVG004	Foil Roasting Tray Large Oval 110µ (440x330x75mm)	80	1	80	445x335x400
44ALTRLA0000OVG005	Foil Roasting Tray Large Oval 110µ + Sticker	80	1	80	445x335x400
44ALTRLA0000OVG006	Foil Roasting Tray Large Oval 140µ HD (440x330x75mm)	80	1	80	445x335x400
44ALTRLA0000OVG007	Foil Roasting Tray Large Oval 140µ + Sticker HD	80	1	80	445x335x400
44ALRTCPO80400C001	Tray Bake + Roasting Tray Combo (8pcs Tray + 4pcs Oval)	12	3	36	468x322x315
44ALTRAC322032G001	Foil Tray Bake (322x201x32mm)	200	1	200	520x400x430

ALUMINIUM PLATTER

CODE	ITEM DESCRIPTION	PCS/BAG	BAG/CTN	PCS/CTN	CTN SIZE(mm)
44ALTRPL14IN00G001	Foil Platter (356mm/14")	100	1	100	355x335x255
44ALTRPL17IN00G001	Foil Platter (432mm/17")	50	1	50	430x220x290
44ALTRPL652200G001	Foil Platter (559mm/22")	50	1	50	550x220x365





PET Smoothie Cups



PET SMOOTHIE CUPS

CODE	ITEM DESCRIPTION	PCS/BAG	BAG/CTN	PCS/CTN	CTN SIZE(mm)
44PLCUPT08OZ00G001	Smoothie Cup 78mm Dia PET (237ml/8oz) Clear	50	20	1000	395x320x415
44PLCUPT10OZ00G001	Smoothie Cup 78mm Dia PET (296ml/10oz) Clear	50	20	1000	395x320x435
44PLCUPT12OZ00G001	Smoothie Cup 91mm Dia PET (355ml/12oz) Clear	50	20	1000	465x380x425
44PLCUPT14OZ00G001	Smoothie Cup 91mm Dia PET (414ml/14oz) Clear	50	20	1000	465x380x440
44PLCUPT16OZ00G001	Smoothie Cup 91mm Dia PET (473ml/16oz) Clear	50	20	1000	465x380x465

LIDS FOR PET SMOOTHIE CUPS

CODE	ITEM DESCRIPTION	PCS/BAG	BAG/CTN	PCS/CTN	CTN SIZE(mm)
44PLCUPT0810DLG001	Dome Lid for Smoothie Cup PET 78mm for 8-10oz Clear	100	10	1000	650x185x420
44PLCUPT1214DLG001	Dome Lid for Smoothie Cup PET 91mm for 12-16oz Clear	100	10	1000	600x490x200
44PLCULH10OZFTG001	Flat Lid for Smoothie Cup PET 78mm for 8-10oz Clear	100	10	1000	570x420x180
44PLCULH1214FTG001	Flat Lid for Smoothie Cup PET 91mm for 12-16oz Clear	100	10	1000	600x490x200



CODE	ITEM DESCRIPTION	PCS/BAG	BAG/CTN	PCS/CTN	CTN SIZE(mm)
44PLCURW12OZ00G001	Red & White Cup PP (355ml/12oz)	50	20	1000	475x385x400
44PLCURW16OZ00G001	Red & White Cup PP (473ml/16oz)	50	20	1000	480x385x360

Plastic Cups



WATER CUPS - FOR COLD USE

CODE	ITEM DESCRIPTION	PCS/BAG	BAG/CTN	PCS/CTN	CTN SIZE(mm)
44PLCUWH07OZ00G001	Water Cup PP (207ml/7oz) White	100	20	2000	550x345x280
44PLCUCL07OZ00G002	Water Cup PP (207ml/7oz) Clear	100	20	2000	550x345x280
44PLCUBT07OZ00G002	Water Cup PP (207ml/7oz) Blue	100	20	2000	550x345x280

PINT CUPS - FOR COLD USE

CODE	ITEM DESCRIPTION	PCS/BAG	BAG/CTN	PCS/CTN	CTN SIZE(mm)
44PLCUPH17OZPPG001	Pint to Line PP Clear Cup	50	20	1000	500x400x456
44PLCUCL0000HPG003	Half Pint to Line PP Clear Cup	50	20	1000	413x328x425
44PLCUPH04OZPTG001	Pint to Brim PP Clear Cup	50	20	1000	500x400x446
44PLCUCL0000HPG002	Half-Pint to Brim PP Clear Cup	50	20	1000	413x328x420

BOMB SHOT CUP - FOR COLD USE

CODE	ITEM DESCRIPTION	PCS/BAG	BAG/CTN	PCS/CTN	CTN SIZE(mm)
44PLCU000000BSG001	Bomb-Shot PP Clear Cup	50	20	1000	340x330x420



Heavy Duty Microwave Containers

Rectangular



HEAVY DUTY RECTANGULAR MICROWAVE CONTAINERS

CODE	ITEM DESCRIPTION	PCS/BAG	BAG/CTN	PCS/CTN	CTN SIZE(mm)
44PLCOMW0500HDG001	HD Container + Lid Rectangle MW-PP 500ml/17oz - Clear	250	1	250	598x260x360
44PLCOMW6500HDG001	HD Container + Lid Rectangle MW-PP 650ml/22oz - Clear	250	1	250	598x270x360
44PLCOMW750HDG002	HD Container + Lid Rectangle MW-PP 750ml/25oz - Clear	250	1	250	598x285x360
44PLCOMW1000HDG001	HD Container + Lid Rectangle MW-PP 1000ml/34oz - Clear	250	1	250	589x300x360



Standard Microwave Containers

Rectangular



STANDARD RECTANGULAR MICROWAVE CONTAINERS

CODE	ITEM DESCRIPTION	PCS/BAG	BAG/CTN	PCS/CTN	CTN SIZE(mm)
44PLCOMW5000RTG001	STD Container + Lid Rectangle MW PP (500ml/17oz) Clear	250	1	250	370x305x410
44PLCOMW6500RTG001	STD Container + Lid Rectangle MW PP (650ml/22oz) Clear	250	1	250	370x305x415
44PLCOMW7500RTG001	STD Container + Lid Rectangle MW PP (750ml/25oz) Clear	250	1	250	370x305x425
44PLCOMW0100RTG002	STD Container + Lid Rectangle MW PP (1000ml/34oz) Clear	250	1	250	370x305x435

Standard Microwave Containers

Round



STANDARD ROUND MICROWAVE CONTAINERS

CODE	ITEM DESCRIPTION	PCS/BAG	BAG/CTN	PCS/CTN	CTN SIZE(mm)
44PLCOMW0150ROG001	STD Container + Lid Round MW PP 150ml Clear	250	1	250	495x108x375
44PLCOMW0225ROG001	STD Container + Lid Round MW PP 225ml Clear	250	1	250	575x121x375
44PLCOMW2500ROG002	STD Container + Lid Round MW PP 250ml Clear	250	1	250	620x250x245
44PLCOCL100ZROG001	STD Container + Lid Round MW PP 300ml Clear	250	1	250	351x351x195
44PLCOMW4500ROG002	STD Container + Lid Round MW PP 450ml Clear	250	1	250	620x250x260
44PLCOMW5250ROG001	STD Container + Lid Round MW PP 525ml Clear	250	1	250	620x250x306



Plastic Portion Pots



HINGED PORTION POTS

CODE	ITEM DESCRIPTION	PCS/BAG	BAG/CTN	PCS/CTN	CTN SIZE(mm)
44PLBOHI01OZHDC001	Hinged Sauce Pot HD PP (1oz - 30ml) Clear	50	20	1000	535x225x200
44PLBOHI02OZHDC001	Hinged Sauce Pot HD PP (2oz - 59ml) Clear	50	20	1000	580x285x300
44PLBOHI04OZHDC001	Hinged Sauce Pot HD PP (4oz - 118ml) Clear	50	20	1000	490x310x360

CLEAR PORTION POTS WITH LIDS

CODE	ITEM DESCRIPTION	PCS/BAG	BAG/CTN	PCS/CTN	CTN SIZE(mm)
44PLCUCI01OZPRG002	Portion Pot PP + LID PET (1oz - 30ml) Clear	100	10	1000	360x240x195
44PLCUCI02OZPRG002	Portion Pot PP + Lid PET (2oz - 59ml) Clear	100	10	1000	360x330x260
44PLCUCI04OZPRG001	Portion Pot PP + Lid PET (4oz - 118ml) Clear	100	10	1000	410x385x310

HD CLEAR PORTION POTS WITH LIDS

CODE	ITEM DESCRIPTION	PCS/BAG	BAG/CTN	PCS/CTN	CTN SIZE(mm)
44PLCUHD02OZPRG002	Portion Cup + Lid P2 HD PP (2oz - 59ml) Clear	100	8	800	510x300x300
44PLCUHD04OZPRG002	Portion Cup + Lid P4 HD PP (4oz - 118ml) Clear	100	8	800	565x300x300



Heavy Duty Rectangular Microwave Containers

Black Base

PLASTIC PRODUCTS



HEAVY DUTY BLACK BASE MICROWAVE CONTAINERS WITH CLEAR LIDS

CODE	ITEM DESCRIPTION	PCS/BAG	BAG/CTN	PCS/CTN	CTN SIZE(mm)
44PLBBLI08OZRTG001	HD Rect. Container + Lid - RE8 PP (237ml/8oz) Black+Clear	150	1	150	426x200x190
44PLBBMW12OZRTG002	HD Rect. Container + Lid - RE12 PP (355ml/12oz) Black+Clear	150	1	150	355x145x375
44PLCOBK16OZRTG001	HD Rect. Container + Lid - RE16 PP (473ml/16oz) Black+Clear	150	1	150	395x200x385
44PLCOBK24OZRTG001	HD Rect. Container + Lid - RE24 PP (710ml/24oz) Black+Clear	150	1	150	393x199x382
44PLBBBK28OZRTG001	HD Rect. Container + Lid - RE28 PP (828ml/28oz) Black+Clear	150	1	150	465x232x377
44PLBBBK32OZRTG002	HD Rect. Container + Lid - RE32 PP (946ml/32oz) Black+Clear	150	1	150	465x230x380
44PLCOBK38OZRTG001	HD Rect. Container + Lid - RE38 PP (1124ml/38oz) Black+Clear	150	1	150	465x230x390
44PLBBMW48OZRTG002	HD Rect. Container + Lid - RE48 PP (1420ml/48oz) Black+Clear	150	1	150	670x230x425
44PLCOBK58OZRTG002	HD Rect. Container + Lid - RE58 PP (1715ml/58oz) Black+Clear	150	1	150	616x307x418
44PLCMBK0200RTG001	HD Rect. 2 Compartment Black Base Container + Lid PP - RE232	150	1	150	470x230x375
44PLCMBK0300RTG001	HD Rect. 3 Compartment Black Base Container + Lid PP - RE342	150	1	150	550x235x375

Heavy Duty Round Microwave Containers



HEAVY DUTY BLACK BASE ROUND CONTAINERS WITH CLEAR LIDS

CODE	ITEM DESCRIPTION	PCS/BAG	BAG/CTN	PCS/CTN	CTN SIZE(mm)
44PLCOBK16OZROG001	HD Round Container + Lid - RO16 PP (473ml/16oz) Black+Clear	150	1	150	485x165x405
44PLCOBK24OZROG001	HD Round Container + Lid - RO24 PP (710ml/24oz) Black+Clear	150	1	150	560x190x410
44PLBBBK32OZROG002	HD Round Container + Lid - RO32 PP (946ml/32oz) Black+Clear	150	1	150	560x190x420
44PLBBMW48OZROG001	HD Round Container + Lid - RO48 PP (1420ml/48oz) Black+Clear	150	1	150	715x245x410

HEAVY DUTY WHITE BASE ROUND CONTAINERS WITH CLEAR LIDS

CODE	ITEM DESCRIPTION	PCS/BAG	BAG/CTN	PCS/CTN	CTN SIZE(mm)
44PLCOWH16OZROG001	HD Round Container + Lid - RO16 PP (473ml/16oz) White+Clear	150	1	150	485x165x405
44PLCOWH24OZROG001	HD Round Container + Lid - RO24 PP (710ml/24oz) White+Clear	150	1	150	560x190x410
44PLCOWH32OZROG001	HD Round Container + Lid - RO32 PP (946ml/32oz) White+Clear	150	1	150	560x190x420

Black Rectangular Containers

Black Base



BLACK RECTANGULAR CONTAINERS

CODE	ITEM DESCRIPTION	PCS/BAG	BAG/CTN	PCS/CTN	CTN SIZE(mm)
44PLBBCM0400PPG001	4 Section Black Base Container PP - H062T	200	1	200	670x410x300
44PLBBCM0500PPG001	5 Section Black Base Container PP	200	1	200	663x533x213
44PLCMCL06000G001	6 Section Black Base Container PP	150	1	150	595x455x225

LIDS FOR BLACK RECTANGULAR CONTAINERS

CODE	ITEM DESCRIPTION	PCS/BAG	BAG/CTN	PCS/CTN	CTN SIZE(mm)
44PLBBCM04LIPPG001	PP Lid for Black Base Rect. Container 4 Section - H062G	200	1	200	670x415x300
44PLBBCM05LIPPG001	PP Lid for Black Base Rect. Container 5 Section	200	1	200	595x551x225
44PLCMCL0600LIG001	PP Lid for Black Base Rect. Container 6 Section	150	1	150	599x464x238

PET Salad Bowls



CLEAR / BLACK BASE SALAD BOWLS WITH LIDS

CODE	ITEM DESCRIPTION	PCS/BAG	BAG/CTN	PCS/CTN	CTN SIZE(mm)
44PLBOSD18OZFWG001	Flower Shaped Salad Bowl 18oz - Clear Base + Lid	50	4	200	530x350x360
44PLBOSD24OZFWG001	Flower Shaped Salad Bowl 24oz - Clear Base + Lid	50	4	200	530x360x360
44PLBOSD32OZFWG001	Flower Shaped Salad Bowl 32oz - Clear Base + Lid	50	4	200	560x350x360
44PLBO18OZ00FWG001	Flower Shaped Salad Bowl 18oz - Black Base + Lid	50	4	200	530x350x360
44PLBO24OZ00FWG001	Flower Shaped Salad Bowl 24oz - Black Base + Lid	50	4	200	530x360x360

PET Sushi Trays



BLACK BASE SUSHI CONATAINER

CODE	ITEM DESCRIPTION	PCS/BAG	BAG/CTN	PCS/CTN	CTN SIZE(mm)
44PLSC00010000G001	Sushi Container Base NBSC01B PET (65x114x20mm) Black	500	1	500	590x220x175
44PLSC00020000G001	Sushi Container Base NBSC02B PET (185x129x20mm) Black	500	1	500	670x280x200
44PLSC00030000G001	Sushi Container Base NBSC03B PET (215x140x21mm) Black	500	1	500	700x240x230
44PLSC00060000G001	Sushi Container Base NBSC06B PET (220x90x21mm) Black	500	1	500	475x280x230
44PLSC00070000G001	Sushi Container Base NBSC07B PET (254x163x29mm) Black	400	1	400	750x525x350
44PLSC00080000G001	Sushi Container Base NBSC08B PET (275x204x29mm) Black	200	1	200	710x420x285

CLEAR PET LID FOR SUSHI CONATAINER

CODE	ITEM DESCRIPTION	PCS/BAG	BAG/CTN	PCS/CTN	CTN SIZE(mm)
44PLSCLI010000G001	Sushi Container Lid NBSC01L PET (175x119x31mm) Clear	500	1	500	625x365x360
44PLSCLI020000G001	Sushi Container Lid NBSC02L PET (195x134x32mm) Clear	500	1	500	700x380x410
44PLSCLI030000G001	Sushi Container Lid NBSC03L PET (220x142x30mm) Clear	500	1	500	750x390x465
44PLSCLI060000G001	Sushi Container Lid NBSC06L PET (225x95x31mm) Clear	500	1	500	740x520x240
44PLSCLI070000G001	Sushi Container Lid NBSC07L PET (237x148x27mm) Clear	400	1	400	610x420x250
44PLSCLI080000G001	Sushi Container Lid NBSC08L PET (259x190x27mm) Clear	200	1	200	400x400x265

PET Deli Containers

Square



DELI CONTAINER - SQUARE

CODE	ITEM DESCRIPTION	PCS/BAG	BAG/CTN	PCS/CTN	CTN SIZE(mm)
44PLDCPT08OZSQG001	Deli Container Square PET (237ml/8oz) Clear	500	1	500	590x250x350
44PLDCPT12OZSQG001	Deli Container Square PET (355ml/12oz) Clear	500	1	500	590x250x420
44PLDCPT16OZSQG001	Deli Container Square PET (473ml/16oz) Clear	500	1	500	590x250x425
44PLDCPT24OZSQG001	Deli Container Square PET (710ml/24oz) Clear	400	1	400	590x250x420
44PLDCPT32OZSQG001	Deli Container Square PET (946ml/32oz) Clear	200	1	200	590x250x460
44PLLIPT1624SQG001	Flat Lid for Deli Container Square PET (8-32oz) Clear	500	1	500	595x260x310

PET Deli Containers

Round



DELI CONTAINER - ROUND

CODE	ITEM DESCRIPTION	PCS/BAG	BAG/CTN	PCS/CTN	CTN SIZE(mm)
44PLDCPT08OZROG001	Deli Container Round PET (237ml/8oz) Clear	500	1	500	595x242x360
44PLDCPT12OZROG001	Deli Container Round PET (355ml/12oz) Clear	500	1	500	595x245x390
44PLDCPT16OZROG001	Deli Container Round PET (473ml/16oz) Clear	500	1	500	595x245x390
44PLDCPT24OZROG001	Deli Container Round PET (710ml/24oz) Clear	400	1	400	595x245x430
44PLDCPT32OZROG001	Deli Container Round PET (946ml/32oz) Clear	200	1	200	595x245x490
44PLDCPT0000DLG001	Dome Lid for Deli Container Round PET (8-32oz) Clear	500	1	500	610x250x305
44PLLIPT0000FTG001	Flat Lid for Deli Container Round PET (8-32oz) Clear	500	1	500	610x250x280

PET Hinged Deli Containers

Square



SQUARE DELI CONTAINER - HINGED

CODE	ITEM DESCRIPTION	PCS/BAG	BAG/CTN	PCS/CTN	CTN SIZE(mm)
44PLCOCLSM05SQG001	Square Deli Container Hinged PET Clear (HPL500) - Small	500	1	500	820x380x390
44PLCOCLME04SQG001	Square Deli Container Hinged PET Clear (HPL400) - Medium	500	1	500	870x440x440
44PLCOCLLR03SQG001	Square Deli Container Hinged PET Clear (HPL300)- Large	250	1	250	470x440x460
44PLCOCLXL02SQG001	Square Deli Container Hinged PET Clear (HPL200) - X-Large	250	1	250	500x500x535







ALUMINIUM FOIL ROLLS

CODE	ITEM DESCRIPTION	ROL/BOX	BOX/CTN	ROL/CTN	CTN SIZE(mm)
44ALFORL303000G001	Extra Strong Kitchen Foil 30m x 30cm (18µ)	1	12	12	230x180x320
44ALFORL304500G001	Extra Strong Kitchen Foil 30m x 45cm (18µ)	1	12	12	230x180x480
44ALFORL305000G001	Economy Pack Foil Roll 50m x 30cm (10µ)	1	12	12	230x180x320
44ALFORL455000G001	Economy Pack Foil Roll 50m x 45cm (10µ)	1	12	12	230x180x480
44ALFORL307500G001	Foil Roll Premium 75m x 300mm (12µ)	1	6	6	220x150x330
44ALFORL457500G001	Foil Roll Premium 75m x 450mm (12µ)	1	6	6	250x180x490





CLING FILM ROLLS

CODE	ITEM DESCRIPTION	ROL/BOX	BOX/CTN	ROL/CTN	CTN SIZE(mm)
44PLCF00303000G001	PVC Cling Film - 300m x 300mm (10µ)	1	6	6	265x180x340
44PLCF00453000G001	PVC Cling Film - 300m x 450mm (10µ)	1	6	6	265x180x490

COOKING PAPER ROLLS

CODE	ITEM DESCRIPTION	ROL/BOX	BOX/CTN	ROL/CTN	CTN SIZE(mm)
44PABKPR504500G001	Baking Parchment Paper 50m x 450mm	1	6	6	250x170x490
44PABKGP504500G001	Premium Greaseproof Paper 50m x 450mm	1	6	6	250x170x490

ELEVATE YOUR BRAND WITH BESPOKE CUSTOM PRINTING



H-Pack Packaging UK offers custom printing services to showcase your brand on a variety of packaging products. Elevate your brand with personalised designs that leave a lasting impression on your customers. Whether it's boxes, bags, or labels, we ensure top-quality printing that perfectly aligns with your brand identity.



